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% Laurent Series and sequences

function plotseqL(m=1, pl=2, p2=2.1)

tlp=0:m;

tln =-m:-1:

tl = [tln, tlp];

fI=1{zeros(i,m), ((T/p2)(tIp+1)-(I/p1)~(tIip+1InNTh;
f2 = [((1/pl).”~(t1ln+1) -(1/p2).”(t1n+1)), zeros(1l,m+1)];

f3 =[(1/pl).~(tIn+1), (1/p2).”(t1p+1)];

subplot(3, 1, 1);

stem(tl, T1);
grid on

%axis([0, m])

title(sprintf("fl1 m=%d pl=%g p2=%g", m, p1,p2))

subptot(3;
stem(tl, f2

L | S\
1,2y
)

’

grid on
%axis([0, m])

title(sprintf("f2 m=%d pl=%g p2=%Qg", m, pl, p2))

subplot(3, 1, 3);

stem(tl, T3);
grid on

%axis([0, m])
title(sprintf("f3 M=%d pnl1=%a pn2=%a" m pl n2))
ANl o \ ™ N N 97 T = =77
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%-z-Transform-and-sequences

function plotseq2(m=1, pl=2, p2=2.1)

cla;

tlp=1:m;

tln =-m: 0;

tl = [u.i". tlpj,

X1 = [zeros(1,m+1), ((p1).”(t1lp-1) - (p2).”(t1p-1))];
X2 = [((p2). 7~ (tIn-1) -(pl).7(tIn-1)), zeros(1,m)T;

X3 = [(p2).~(t1n-1), (p1). 7~ (t1p-1)];

-

[ 1
subptot(3; 1, 1)

stem(tl, X1);

grid on
%axis([0, m])

title(sprintf("X1 m=%d pl=%g p2=%g", m, pl, p2))

subplot(3, 1, 2);

stem(tl, X2J;
grid on

%axis([0, m])

title(sprintf("X2 m=%d pl=%a0n2=%a" m. pnl. p2))
1 \ ™ I I T T =77

{ 1 2\

la 1 =[O
supprot(s, L, o);

stem(tl, X3);

grid on
%axis([0, m])

title(sprintf("X3 m=%d pl=%g p2=%g", m, pl, p2))

endfunction




